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Introduction to Programming Using C
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The global variables are

(A) External

(B) Internal

(C) Both External and Internal
(D) None of the above

The #include <stdio.h>isa
(A) Inclusion directive

(B) Fileinclusion directive

(C) Preprocessor directive

(D) None of the above

The C language consist of
keywords.

(A) 32

(B) 40

(C) 24

(D) 56

number of

Which of the following is a keyword used for a

storage class?
(A) Printf
(B) external
(C) auto
(D) scanf

Developer of 'C' language is
(A) Dennis Ritchie

(B) Bill Gates

(C) Ken Thompson

(D) Peter Norton

(D) ST § ° HE Tl

#include <stdio.h> T .......... 2
(A) FaEeE e

(B) ®TEd THEYE fAder

(C) dEm fdw

(D) SR d ° HE &l

CHH H ... Fem | #iue e 2
(A) 32
(B) 40
(C) 24
(D) 56

frefafed § 9 ®F 9 Flae =R 59 ®

fau syam fean s @2
(A) iz

(B) Tg

(C) sfter
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6. Clanguagedevelopedin . 6. H w9 & faw ... H ga
(A) 1970 (A) 1970
(B) 1972 (B) 1972
(C) 1976 (C) 1976
(D) 1980 (D) 1980
7. Afunction which calls itselfis called : 7. Tk HRM S TE H B BA ¢ Y HEl
(A) Self-function ST @
(B) Auto function (A) UTF HHRH
(C) Recursive function (B) 3l TR
(D) Static function (C) Rwfda wE
(D) Tk ™
8. How many values can a C function returns at a 8. T C BRNE TH 999 ¥ fvad 9= e
time? Tehdl €2
(A) Only one value (A) &ad TH HH
(B) Maximum oftwo value (B) T AFI H 9 eifuhan
(C) Maximum ofthree value (C) fysraqd o A
(D) Maximum ofeight value (D) 31fyehaH 316 HH
9. Whatare types of functions in C language? 9. W W HeRM & YHR 1 8?2
(A) Library function (A) TSR HaRH
(B) User defined function (B) SUAThal g1 IR heR™
(C) Both library and user defined function (C) sl AR SRl gRT IRt e
(D) None of the above (D) SR | ¥ *iE &l
10. Which ofthe following cannot be static in C? 10. Fr=fafea & @ & @ C o feer & @
(A) Variable ekl €2
(B) Functions (A) fTaa
(C) Structures (B) TeRHM
(D) None of'the above (C) &+
(D) SR d ° HE &l
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11. The default parameter passing mechanism is

(A) Call by values

(B) Call by reference
(C) Callbyvalueresult
(D) None of these

12. Whatis a structure in ¢ language?

(A) A structure is a collection of elements that
can be of same data type

(B) A structure is a collection of elements that
can be of different data type

(C) Elements of a structure are called members

(D) All ofthe above

13. Which of the following is the correct way of

declaring float pointer.
(A) float ptr

(B) float *ptr

(C) *float ptr

(D) None of the above

14. A pointeris

(A) A keyword used to create variables

(B) A variable that stores address of an
instruction

(C) A variable that stores address of another
variable

(D) None of the above

15. The operator used to get value at address stored

inapointer variable is
(A) *

B) &

(©C) &&

D) |

11. fewfee Yudier wifgn ffey 2

INE e
(B) e 9 R
(C) Hia o1 g fisiee

(D) 3w | ¥ HE T

12. &t 9 H R @ e?

(A) TFR Tl 1 Th HUE € S GHH B
T & B GHd Bl

(B) HFR Ol 1 Th HUE € S fafu=
2 T F B THA B

(C) HFR & el 1 TSET hel Wl @

(D) S gt

13. 79 ¥ 9 &9 91 v qige wiftd &

TE W 72

(A) Tre dHETIR

(B) Fle *HiIR

(C) *Wele HrsIR

(D) SR ¥ ¥ Hig &l

14. TEX T &

(A) IRTEA I & e Iwm fear SH
e TH hiae

(B) Tk aftuaet it fapedt e o1 war wuEia
EGI

(C) @ dR@EE st g IR@EA &1 9@
TS H ®

(D) SWe ¥ ¥ Hig TEl

15. WEX Ree # WU Sogue T2E U

FH B fou TR R SR aren siqet ©
(A) *

B) &
(C) &&

D) |l

[ SECIT-01/2024 |



16.

17.

18.

19.

20.

Which header file should be included to use
function like malloc(), calloc()?

(A) memory.h

(B) stdlib.h

(C) dos.h

(D) stringh

Specify the two library functions to dynamically
allocate memory.

(A) malloc() and memalloc()

(B) mlloc() and memalloc()

(C) malloc() and calloc()

(D) memalloc() and faralloc()

Thefunction  isused for finding the number
of characters present in a given string.

(A) strcat()

(B) strepy()

(C) Both (A) and (B)

(D) strlen()

The programmer original program code is called
as:

(A) Objectfile

(B) Source file

(C) Executablefile

(D) Application file

What is a program?

(A) A setofinstructions
(B) A setofpseudo code
(C) Both (A) and (B)

(D) None ofthe above

16.

17.

18.

malloc(), calloc() SIH HaH 1 STAN HE
% fau #F @t e e wfEe w1 S
=1fge?

(A) memory.h

(B) stdlib.h

(C) dos.h

(D) stringh

SRR AN 3Tefed i & fau |1 eget
wRH fafdse =

(A) malloc() and memalloc()

(B) mlloc() and memalloc()

(C) malloc() and calloc()

(D) memalloc() and faralloc()

TR oo w1 37 fordt fiw o fen o
TR I9 KT WA 99 kA & A fEmw
S 2

(A) TESTRE( )

(B) THEIARETHETE( )

(C) (A) ¥R (B) ZH

(D) THASRTRTH( )

19. TR % TS T IS H F1 FHEl Sl 82

NS E SR
(B) W et
(C) T wEd

(D) TAThIH e

20. TF UM R 27

(A) FEe 1 & W=
(B) pseudo code FT TH T
(C) (A) ¥R (B) ZHT
(D) SWed H ¥ g el
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21.

22,

23.

24,

25.

What will this program print?
#include<stdio.h>
intmain()

{
/* my first program in C */
printf("Hello, World! /n");
return 0;

h

(A) Hello, World!

(B) Hello, Programming
(C) Error Message

(D) None of the above

Cis__ typeofprogramming language.
(A) Object Oriented

(B) Procedural

(C) Bitlevel language

(D) Functional

C language was invented in which laboratories?
(A) Uniliver Labs

(B) IBM Labs

(C) AT&T Bell Labs

(D) Verizon Labs

A function declarationis also knownas
(A) function prototype

(B) Function protocol

(C) Both (A)and (B)

(D) None of the above

The parameters which appear in the first line of
the function definition are referredtoas
(A) Informal parameter

(B) formal parameter

(C) Both (A) and (B)

(D) None of the above

21.

22,

23.

24,

25.

I5 T w4 fhe wmam?
#include<stdio.h>
intmain()

{

/* my first program in C */
printf("Hello, World! /n");
return 0;

}

(A) Toal, o)

(B) Tealt, FrnfHT

(C) Afe Fawr

(D) SR d ¥ HE &l

ot 9 o1 enfashr forg wermTen | feman
DRI

(A) FAfTeR =g

(B) STEHTA s

(C) TA&S! ot oisd

EESIERGES

(C) (A) 3R (B) 3
(D) SR H ¥ HE &l

TR SRfYH * weel od § k@ <A
e e # ..., el Wl 2

(A) TTHRHESA TR

(B) ®iHel i

(C) (A) 3R (B) 2
(D) ST § | HE Tl
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26. Astructureisdeclared usingthekeyword
(A) Struct
(B) Int
(C) Float
(D) None of the above

27.  can be defined as a finite, ordered
collection of homogeneous elements that are
stored in contiguous memory locations.

(A) Structure

(B) Union

(C) Array

(D) None of the above

28.  arrayisacollection ofhomogeneous data
elements with only one row.
(A) One Dimensional
(B) Two Dimensional
(C) BothAand B
(D) None ofthe above

29. Anarray of charactersiscalleda
(A) Character
(B) String
(C) Buffer
(D) None of the above

30. Anullcharacterrepresentedby
(A) /0
(B) '/’
(C) "%d'
(D) None of the above

26.

27.

28.

30.

........ FHIGS HT ITAT Fh ThH LFR
Hift feran Tan ©

(A) EH

(B) g

(C) Wz

(D) SR | ° *iE &l

......... F T dEl & TH GifEd, FEES
TUE ® ®9 H R A S b € =
wf-ifea wgfa waHl & wuea e 2

(A) EFR

(B) afta

(C) W

(D) SWed H ¥ g el

......... arrayW@ﬁﬁﬁﬁﬁW@?l
Jedl T GUE R

(A) Th 3Tt

(B) [ ATATH

(C) (A) ¥R (B) =Fl

(D) SR | ° *iE &l

(C) I
(D) SW H ¥ HE e

T I gu S gfaffaea
fepan ST @

A) ‘R’

B) ‘T’

(C) ‘%zt

(D) SWed H ¥ g el
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31.

32.

33.

34.

3S.

What does a do-while loop do?
(A) Repeats the process infinitely
(B) Processes the code at least once and then
repeats
(C) Repeats only once
(D) None of the above

Header file in C contain :

(A) Compiler commands

(B) Library functions

(C) Header information of C programs
(D) Operators for files

declares the start of the program.
(A) main()
(B) scanf{()
(C) print()
(D) None of the above

Every executable statement in C will end with a
(A) Colon

(B) Semicolon

(C) Brackets

(D) None of the above

Unsigned char can hold the values in the range
of

(A) -128 to 127

(B) 127 to -128

(C) -127 to 128

(D) None of the above

31.

32.

33.

34.

3S.

ST o4 1 Hl 77

(A) 9fHa Y e IR ST @

(B) T & FH W ®T TH 9R GO
w © R S ©

(C) ol Th o) <ed@l Sl &

(D) SWed ® ¥ g el

C ® 3= el o wnfier §-
(A) FUEER ST

(B) @mgsil wheRTE

(C) C 9 &1 TEX SR
(D) el & fog st

......... T 1 ST 1 SO i B
(A) T()

(B) ThHTTH()

(©) foe0

(D) SR | ¥ *iE &l

(A) -128 & 127
(B) 127 ¥ -128
(C) -127 ¥ 128
(D) SR d ° HE &l
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36.

37.

38.

39.

40.

__ arethe fixed value in a C program that
cannot be changed during the execution of the
program.

(A) Keyword

(B) Constants

(C) BothAand B

(D) None ofthe above

are the names assigned to different
memory locations for storing data.
(A) Value
(B) Variation
(C) Variables
(D) None ofthe above

Thename of the variable must startwithan
(A) Alphabet

(B) Digit

(C) Both (A) and (B)

(D) None of the above

operators are the operators, which
operate on single operand.
(A) Binary
(B) Unary
(C) Both (A) and (B)
(D) None ofthe above
The main functionofthe  statementis to
repeat a particular set of statements for a fixed
number of time.
(A) While
(B) do-while
(C) for
(D) None of the above

36.

37.

38.

39.

40.

10

........ o o 4 ffed am € 5 dom &
e & <R aen TEl S ekl

(A) ®IaE

(B) feerisn

(C) (A) 3R (B) ZHl

(D) SWed H ¥ g el

......... T GUE ®H & AU oTem-ste
TR Tl w1 T fe e

(A) 5

(B) aRwgH

(C) aRTaed

(D) SWed H ¥ g el

®B) fefre
(C) (A) 3R (B) 2
(D) SR H ¥ HE &l

......... AN o FANX B €, W ThHa
ARE W HH FW 2

(A) ST

(B) TH

(C) (A) 3R (B) <

(D) 3w # o i T

......... FHA H & HE U & Th fowm
e &I ffYea g9 9 eI 2

(A) =T

(B) g-=1feet

(C) TR

(D) SWed H ¥ g el
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